TAKE HOME FINAL #1
Semester Review WS #1

Name K U—/\ Will make up 10 points on the final . . . graded on
J , accuracy
1. Evaluate |-2|-3° = (5-11) 2. Evaluate +/81+24+6-3-5% = 4+ 24,3 -2
—4 ©
l % . ) 4x— y=5
3. How many solutions does this system of equations have? 3y 2
y=3x-

A)0 )2 D) an infirifle numbs
4. How many and what type of solutions does x* —5x+16 =0 have?
Y-nac= -2 FZ \mo\@ho\(b\&
5. Find the value of the discriminant given x* +3x—4

p-tac = 3-a0¥-)=25)

6. A student has some pennies and dimes. All total, he has 21 coins. If he adds them up, he has

$1.56. How many dimes does he have? X+y=2) X + ‘0‘/= A
A)20 @ C) 19 D)6 —(x+Y=24)
QL&:‘%S'

7. Find the product of (x +5)(3x” —,.%x +3) | (é: 2
B BHVB XIS

8. Solve 2x +5x—23 = 0. Answer should be in most simplified form.
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5 == S =N
e v "::; -
9. What is the degree and leading coefficient of the polynomial: —3x° +4x? —2x+7
D’sf,w(’ 2= 5 Leactie NG Oyt cieaw = - R
- i,

10. Combine and simplify: 2+/27 — 4+4/75

-ndz
11. Evaluate a® —4(b’ —a)+% ifa=4andb=-2

2

12. Name the sets of numbers that each value belongs to: (a) 4 and (b) 247

a | ponole , In Rrom| Peal| b)) 1rranonad, real
\ﬂ“h,i;l" 1’3?_—%& "R, ) i "=

13. Solve: 357 14. Find the vertex: f(x)=2x"-8x+3

=50 CZFS)
15. A plane flies 600 miles upwind in 3 hours. It makes the return trip in only 2 hours. What is the
speed of the plane in still air? O =R T~ 200 = D-to
6oo=P-W)3  3e=Pew | 250mp-\
QOO =(P+Wy2z-  w0=2d T
250 - P
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16. Solve: 3[2x—4|-4=11  17. Simplify %(y— 18. Simpliy =% 8" il
X

X
bezecs)

2x+3y =15
19. In the solution of the system of equations F+y=1 , y=|2\
x+4y =23 =
_5‘0 = - 3\
o (1258 ) . 6+2(6—8) 2
20. Simpli —_— 21. Simplify : ————= = | =
plity (20x7y‘3 "J Py = 59
25 x¥*2%
Ay¥ "
22. Solve 4x* —2x+2=0. Answer should be in most simplified form.
SN g i\
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23. Solve (x+3)2 —8=0. Give the > exact _ggswer
\><- -3+ 241 ~5.52% 0 —O0FL
—x—4
24. Graph {¥ <3”* 25. Graph: 3x—2y=6 26. —2y>4x-10
x+2y<5 . (ﬁ}é_—'b( 5 @
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27. Given the two points (3,-4)and (-1,6) 28. Graph y>-2x>+4x+5
find the equation of the line in: = (- (_q\ \D g A
~(=(3)" | =

(a) Write in point-slope form -
(b) Write in slope-intercept form ~ "=
(c) Write in standard form

ox\ %—@ - -S'(xﬁ_ﬂ or (ﬂ+"{=‘%’_(>("3\
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D) (ﬁ‘;‘%x-t-:%’ "*?K+7‘

<) 5x r2y = -+ Sx+24= +



